
 

 

 

 

 

 
 

You can align this adaptor to most frame tubes and a�ach it using the rear flange 

on the back side. 

 

Choose your length of bolt that would best fit your applica�on and bolt up the 2” 

receiver tube.  Make sure bolts are as close to the frame tube as can be and 

�ghten securely.  
 

 

Ques�ons or Comments Call: 320-964-1616, Monday thru Thursday, 7:00 to 4:30 CST            INST5590HO 

ITEM PART# QTY. DESCRIPTION

1 5590-70 1 Receiver Weldment

2 5590-4 1 Rear Flange

3 HDW9477 4 3/8 x 3-1/2 Carriage Bolt

4 HDW9478 4 3/8 x 5 Carriage Bolt

5 HDW9001 4 3/8 Flat Washer

6 HDW7061 4 3/8 Nylock Nut


